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2H2Cr0: + 6FeS0: = Crz(S0s)s + 15H20

2H2Cr0s + 3Fe + 6H2504 =
Crz(S04)s + Fez(S0s)s + 8H20

2H:Cr04 + 3NaS0s + 3H2504 =
Crz(S0:4)3 + 3Naz2504 + 5H20

4H2Cr04 + 6NaHS0s + 3H250: =
2Crz2(S0a)s + 3Na250: + 10H20
4H2Cr0s + 6Na250z + 3H2504 =
2Cr2(504)s + 3Naz504 + 7THz0
2H2CrQs + 3502 + 3H2504 =
Crz(S0s)a + 2H20
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NaCN + Clz = CNCL+ NaCN

* 207

CNCL+ 2NaOH = NaCNO + NaCl + H20
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* 3THA|
2NaCNO + 4NaOH + 3Clz =
6NaCl+ 2C0z2 + Nz 1 + H20
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* 127 (NaClO ArEAl)
NaCN + NaClO =+ NaCNO + NaCl

* 1CHA|(CaClz0 ARBAl)
NaCN + CaCl0 = NaCNO + CaClz

* 20
6NaCN + 5NaCNO + 2NaOH =
6Na2C03 + 5NaCl + Nz + Hz20
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